Fa%itéﬁ #@Tﬁﬁ» b2 X IE " o % 7= % NAME
e RO — DB |
Aa—A Ba—Xx 3 Ca—2A&
ot LY.
iy * 1 1 2 1
O —4x—2—-3+Ty @ a—b—0.4a—2.1b ) gty
= —71_*5 = v = A ' 4 >
3 6.4 31 b =(,¢%',-7§)1*(I|*Z>'5‘
@ —a2—3x+x+x? @ 0.3x—1.4y—1.1x+2y - I 9,3
= e e o
_ = * B
= * = .82 “*Udj 1
—— 5,4(@,901 =3 (® —2x2——§x+ §x2+3x
@ __2x._3y+ Bx—y @ m—0.6n40.1 —:3’:—1 ;/ }l ;V(_’Oté’ » 3 5 i 7\
- e APPSO R ORRIC 2 PF
= 23N 47‘] ==/ 9m - 0.én 2
: [
Al e
@ —Tx—8y+5x+3y @ —0.lab—a+3.2ab+1.5a = e
- -2 - 3./ab+p.Ca A F B2
i ¥ R @ —5-7t2t3
® x—6y—x+y ® 8x—2.5xy—0.8x+4z % / X 5 3, 4 )
| AR
= - )”} = NI S ASAY = ;;,L _/_y
— TR A
® xy—d4x+3xy+5x ® —a—0.9a%2—2.6a+ Ta?
@ Ea—i—lb—za—ﬁb
- 47(4347(’ — — 360+ & OY 4 3 \ 3 5 g
7 &5, g
e o= WREL =
@ —3a—2ab—a+2ab @ m—0.2m2—1.Tm+1.1m? (‘/‘) /’2) L
¢ I .
= =40 — -—pﬂ'm-*a/ml - /—34"‘/5-
o 1
— X+ Tx -+ 2x)+x — 2+ 0.2xy—xy—3.1)2 ® -yt
= +§ = -4 92~ 0.8xf o, 2y g3t Ay g
= e il e a-r[—‘*“);?
© —ab—a*+ab+a? ©® x+0.2y—0.2y—x IEERVEY _f,;(
= ' . ) 5 S
- ® 2 o tayon
—a——a?— —a—+2a
L ¢ 3T
— 2x%y —xy? — 3x)% 4 2x2y @ —a*—3a—0.5a2+2.6a ,
7 4y, ;2 &y,
= - 4293 = ~ /50— Dy = (7747 (-5+5)4
— I, 4,2
@ —r—x—2xtx @ —xty+Lbxy2 i —0.3r% ~ghr3 e
= - 33 = 3y 4Lty
1174 1175 6’




